Dr. NTR College of Agricultural Engineering, Bapatla

SEMESTER G. P. A. REPORT

FOR ADVISOR

Name: K. Ramesh

Second year B.Tech. (Ag. Engg.) Course

I.D.No. BE 17-39

First Semester 2018 - 2019

Title of the Course	Course Number	Credit Hours	Grade point	Credit points
Groundwater, Wells and Pumps	IDEN 231	3	8.9	26.7
Watershed Hydrology	SWCE 241	2	8.7	17.4
Heat and Mass Transfer	AEBE 261	2	8.1	16.2
Soil Mechanics	AEBE 262	2	8.5	17.0
Theory of Machines	AEBE 263	2	8.3	16.6
Electrical Machines and Power Utilization	AEBE 264	3	7.6	22.8
Principles of Horticultural Crops and Plant Protection	AEAS 271	2	8.5	17.0
Entrepreneurship Development and Business Management	AEAS 272	3	8.0	24.0
Engineering Mathematics-III (Numerical Analysis and Statistical methods)	AEAS 273	3	8.5	25.5
Re-Examination				
Environmental Science and Disaster Management	AEAS 177	3	7.4(F)	22.2
		Upto the end of Last	Current	By the end of Current
Total No. of Credit Points		343.8	Semester 205.4	Semester
Total No. of Credit Hours		42		549.2
Grade Point Average		7.9		
Overall Grade Point Average		8.19	0,2	
Courses yet to be completted by the end of the	Current Semest			8.20
Absent from Final Semester Exams:				
Failed Courses:				
Cancelled courses due to shortage of Attendance	e:			

Prepared by: Kudswany

Checked by: M. C. C. redor

Associate Dean
Associate Dean
Associate Dean
Dr NTR College of Agril. Engineering
BAPATELA - 522 101, A.P.

Name of the Advisor: Er. B. Raj Kiran

Registrar:

A.A.C. Coi

₹9 OCT 2019

College of Agricultural Engineering, Bapatla

SEMESTER G. P. A. REPORT

FOR ADVISOR

Name: K. Ramesh

First year B.Tech. (Ag. Engg.) Course

I.D.No. BE 17-39

Second Semester 2017 - 2018

Title of Course	Course Number	Credit Hours	Grade point	Credit points
Fluid Mechanics and Open Channel Hydraulics	AEBE 164	3	7.5	22.5
Strength of Materials	AEBE 165	2	8.0	16.0
Workshop Technology and Practices	AEBE 166	3	7.2	21.6
Applied Electronics and Instrumentation	AEBE 167	3	6.9	20.7
Computer Programming and Data Structures	AEBE 168	- 3	8.8	26.4
Engineering Mathematics - II (Differential Equations)	AEAS 176	3	9.5	28.5
Environmental Science and Disaster Management	AEAS 177	3	F	
Principles of Soil Science	AEAS 178	3	7.7	23.1
Physical Education & Yoga Practice (NC)	COCA 102	1	S	
		Upto the end of Last Semester	During the Current Semester	By the end of Current Semester
Total No. of Credit Points		185.0	158.8	343.8
Total No. of Credit Hours		22	20	42
Grade Point Average	8.4	7.9		
Overall Grade Point Average			8.19	
Courses yet to be completted by the end of the	Current Seme	ster		
Absent from Final Semester Exams:				
Failed Courses:	AEAS 177(3))		
Cancelled courses due to shortage of Attendand	ce:			

Prepared by: Kydwany

Checked by: M.L. K. Riddy

College of Agril. Engineering BAPATEA-522101(A.P.)

Name of the Advisor: Er. B. Raj Kiran

Registrar:

26 NOV 2018

ACHARYA N.G. RANGA AGRICULTURAL UNIVERSITY College of Agricultural Engineering, Bapatla



FOR ADVISOR

Name: K. Ramesh

First year B.Tech. (Ag. Engg.) Course

I.D.No. BE 17-39

First Semester 2017 - 2018

Title of Course	Course Number	Credit Hours	Grade point	Credit points
Surveying and Levelling - I	AEBE 161	3	8.2	24.6
Engineering Mechanics	AEBE 162	3	8.4	25.2
Engineering Drawing	AEBE 163	2	7.4	14.8
Engineering Mathematics - I (Matrices and Calculus)	AEAS 171	3	9.5	28.5
Engineering Physics	AEAS 172	3	8.1	24.3
Engineering Chemistry	AEAS 173	3	9.0	27.0
Principles of Agronomy and Organic Farming	AEAS 174	3	8.2	24.6
Communication Skills and Personality Development	AEAS 175	2	8.0	16.0
NSS / NCC (Non-credit course)	COCA 101	1	S	
		Upto the end of Last Semester	During the Current Semester	By the end of Current Semester
Total No. of Credit Points			185.0	o o mester
Total No. of Credit Hours			22	
Grade Point Average			8.4	
Overall Grade Point Average				
Courses yet to be completted by the end of	the Current S	emester		
Absent from Final Semester Exams:				
Failed Courses:				
		•		
Cancelled courses due to shortage of Atten-	dance:			

Prepared by: Kndsecony

Checked by:

Lemen

Associate Dean
Associate Dean
College of Agril. Engineering
BAPATE 22 101 (A.P.)

Name of the Advisor: Er. B. Raj Kiran

Registrar town order

OAM 19/3/11

23 MAY 2018

Dr. NTR College of Agricultural Engineering, Bapatla

SEMESTER G. P. A. REPORT

FOR STUDENT

Name: K. Ramesh

Second year B.Tech. (Ag. Engg.) Course

I.D.No. BE 17-39

Second Semester 2018 - 2019

Title of Course	Course Number	Credit Hours	Grade point	Credit points
Tractor and Automotive Engines	FMPE 211	3	8.0	24.0
Engineering Properties of Biological materials	PFEN 221	2	8.6	17.2
Irrigation Engineering	IDEN 232	3	8.2	24.6
Soil and Water Conservation Engineering	SWCE 242		8.8	26.4
Fundamentals of Renewable Energy Sources	REEN 251	3	9.1	27.3
Auto CAD Applications	AEBE 265	2	7.5	15.0
Machine Design	AEBE 266	3	8.8	26.4
Thermodynamics, Refrigeration and Air Conditioning	AEBE 267	3	7.5	22.5
Skill Development Training - I	SRDY 281	5	8.5	42.5
Catal Mana Constitution in the		Upto the end of Last Semester	During the Current Semester	By the end of Current Semester
otal No. of Credit Points		549.2	225.9	
otal No. of Credit Hours		67	27	94
Grade Point Average		8.2	8.4	
verall Grade Point Average ourses yet to be completted by the end of the Current Semester		8.20	1474	8.25
bsent from Final Semester Exams:	rent Semester			
niled Courses:				
ancelled courses due to shortage of Attendance:				

Prepared by: Khawany

Checked by: M. C.K. Ledol

Associate Dean
Associate Dean
Associate Dean
Or NTR College of Agril. Engineering
ENDITA-522 101, AP.

Name of the Advisor: Er. B. Raj Kiran

Registrar:

201 MAY 2020

Dr. NTR College of Agricultural Engineering, Bapatla

SEMESTER G. P. A. REPORT

FOR STUDENT

Name: K. Ramesh

Third year B. Tech. (Ag. Engg.) Course

I.D.No. BE/2017-039

First Semester 2019 - 2020

Title of Course	Course Number	Credit Hours	Grade point	Credit points
Farm Machinery and Equipment - I (Tillage and Sowing operations)	FMPE 311	3	8.3	24.9
Tractor Systems and Controls	FMPE 312	3	7.0	21.0
Agricultural Structures and Environmental Control	PFEN 321	3	9.1	27.3
Post Harvest Engineering of Cereals, Pulses and Oilseeds	PFEN 322	3	8.7	26.1
Sprinkler and Micro Irrigation Systems	IDEN 331	2	8.4	. 16.8
Watershed Planning and Management	SWCE 341	2	8.2	16.4
Renewable Power Systems	REEN 351	2	9.0	18.0
Design of Structures	AEBE 361	2	8.4	16.8
Building Construction and Cost Estimation	AEBE 362	2	8.3	16.6
		Upto the end of Last Semester	During the Current Semester	By the end of Current Semester
Total No. of Credit Points		775.1	183.9	
Total No. of Credit Hours		94		
Grade Point Average	8.4	- 0		
Overall Grade Point Average	8.25	-	8.27	
Courses yet to be completted by the end of the Cur Absent from Final Semester Exams:	rent Semester			
Failed Courses:				
Cancelled courses due to shortage of Attendance:				

Prepared by: Kudmony

Associate Dean R 6 2004
Associate Dean P 6 2004
Dr NTR College of Agril, Engineering
BAPATLA - 522 101, A.P.

Date:

Name of the Advisor: Er. B. Raj Kiran

OLM OF

15 JUL 2020.